
  

 Test (CS): A Masterpiece in English: Chaucer's The Canterbury Tales  Test

 Question 1a of 20 ( 1 Chaucer's England 272512 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What is a pilgrimage?

 

 Choice Feedback

A. A sacred religious site

B. A cathedral in
Canterbury, England

*C. A voyage to a sacred
site Correct!

D. A tale told to teach a
lesson

 
Global Incorrect Feedback

The correct answer is: A voyage to a sacred
site.

 Question 1b of 20 ( 1 Chaucer's England 272513 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: In Chaucer's Canterbury Tales , the characters are all:

 

 Choice Feedback

A. trades people.

B. embarking on a pilgrimage
to London.

*C. embarking on a pilgrimage
to Canterbury.

Correct!

D. employees of the church.

 

Global Incorrect Feedback

The correct answer is: embarking on a
pilgrimage to Canterbury.

 Question 1c of 20 ( 1 Chaucer's England 272514 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of these describes the status of the characters at the beginning of
Chaucer's Canterbury Tales?

 

 Choice Feedback

*A. They are preparing to travel from
London to Canterbury. Correct!

B. They are preparing to travel from
Canterbury to London.

C. They are on the road from
Canterbury to London.

D. They are preparing to travel from
London to Jerusalem.

 

Global Incorrect Feedback

The correct answer is: They are preparing to
travel from London to Canterbury.

 Question 2a of 20 ( 1 Structure of The Canterbury Tales 272515 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: In literature, what is a premise?

 

 Choice Feedback

A. A character trait

B. The sequence of events in a story

C. A unifying idea or argument that binds all the
other story elements together

*D. The basic situation upon which a story is
based Correct!

 
Global Incorrect Feedback

The correct answer is: The basic situation upon
which a story is based.

 Question 2b of 20 ( 1 Structure of The Canterbury Tales 272516 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What is the premise of The Canterbury Tales ?

 

 Choice Feedback

A. An innkeeper entertains his guests with stories of
imaginary pilgrims.

B.
Chaucer, the narrator, makes up stories about
imaginary pilgrims to pass the time on a voyage to
Canterbury.

C. A group of pilgrims split into two camps, one in
support of the church, one against it.

*D. A group of pilgrims has a storytelling contest on
the way to Canterbury. Correct!

 
Global Incorrect Feedback

The correct answer is: A group of pilgrims has a
storytelling contest on the way to Canterbury.

 Question 2c of 20 ( 1 Structure of The Canterbury Tales 272517 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: In literature, the term _____ refers to the basic situation or proposition upon
which a story is based.

 

 Choice Feedback

*A. premise Correct!

B. characterization

C. theme

D. plot

 
Global Incorrect Feedback

The correct answer is: premise.

 Question 3a of 20 ( 1 Chaucer's England 272518 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: The Canterbury Tales  was notable in its time because:

 

 Choice Feedback

*A. it was written in Middle English
and used vernacular. Correct!

B. it was written in modern English
and used vernacular.

C. it was written in Old English and
used vernacular.

D. it was written in Middle English
and avoided vernacular.

 
Global Incorrect Feedback

The correct answer is: it was written in Middle
English and used vernacular.

 Question 3b of 20 ( 1 Chaucer's England 272520 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: The Canterbury Tales  was written in which language?

 

 Choice Feedback

*A. Middle
English Correct!

B. Old English

C. Anglo-
Saxon

D. French

 
Global Incorrect Feedback

The correct answer is: Middle English.

 Question 3c of 20 ( 1 Chaucer's England 272521 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Chaucer's Tales was groundbreaking in its day because it was written in
_____ and used _____.

 

 Choice Feedback

A. Italy; Middle English

B. two weeks; Latin and
Greek phrases

*C. Middle English;
vernacular Correct!

D. Old English; vernacular

 

Global Incorrect Feedback

The correct answer is: Middle English;
vernacular.

 Question 4a of 20 ( 2 Structure of The Canterbury Tales 272522 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of these may be described as a frame narrative?

 

 Choice Feedback

*A. A story in which the narrator relates a story
told to him or her by someone else Correct!

B. A story in which the narrator shares his or her
story with another character

C. A story with a narrator

D. All of the above

 

Global Incorrect Feedback

The correct answer is: A story in which the
narrator relates a story told to him or her by
someone else.

 Question 4b of 20 ( 2 Structure of The Canterbury Tales 272524 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of these may be described as a frame narrative?

 

 Choice Feedback

A. Two or more characters exchange dialogue in their
own voices.

B. Two characters exchange dialogue in their own
voices.

C.
A woman tells a friend a long story about
something that happened when she was eight
years old.

*D. A man at a party regales his guests with a story
told to him by a friend of his. Correct!

 

Global Incorrect Feedback

The correct answer is: A man at a party regales
his guests with a story told to him by a friend of
his.

 Question 4c of 20 ( 2 Structure of The Canterbury Tales 272525 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of these may not be described as a frame narrative?

 

 Choice Feedback

A. A man at a party regales his guests with a
story told to him by a friend of his.

B. A narrator relates a story told to him or her
by someone else.

*C. A narrator tells a story about something that
happened to him or her. Correct!

D. A narrator of a story presents the reader with
characters who tell stories.

 
Global Incorrect Feedback

The correct answer is: A narrator tells a story
about something that happened to him or her.

 Question 5a of 20 ( 1 "The Pardoner's Tale": Characterization 272526 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of these describe(s) the Pardoner's appearance?

 

 Choice Feedback

A. He has a high-pitched voice.

B. He is clean-shaven (with the implication
that he never needs to shave).

C. He has thin blond hair that hangs down to
his shoulders.

*D. All of the above are true. Correct!

 
Global Incorrect Feedback

The correct answer is: All of the above are true.

 Question 5b of 20 ( 1 "The Pardoner's Tale": Characterization 272527 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What do the pilgrims assume about the Pardoner based on his appearance?

 

 Choice Feedback

A. That he has low
morals

B. That he will tell a
vulgar tale

C. That he is not a
gentleman

*D. All of the above Correct!

 
Global Incorrect Feedback

The correct answer is: All of the above.

 Question 5c of 20 ( 1 "The Pardoner's Tale": Characterization 272528 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Why do the pilgrims assume the Pardoner has low morals?

 

 Choice Feedback

A. He has a high-pitched voice.

B. His face is shorn as if he never
needs to shave.

C. He has thin blond hair that hangs
down to his shoulders.

*D. All of the above are true. Correct!

 
Global Incorrect Feedback

The correct answer is: All of the above are true.

 Question 6a of 20 ( 2 "The Pardoner's Tale": Characterization 272529 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What might you suspect about the narrator based on his unflattering and
judgmental description of the Pardoner?

 

 Choice Feedback

A. That he is fictional

B. That he is an employee
of the church

C. That he is uneducated

*D. That he is unreliable Correct!

 
Global Incorrect Feedback

The correct answer is: That he is unreliable.

 Question 6b of 20 ( 2 "The Pardoner's Tale": Characterization 272530 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: The narrator's unflattering and apparently biased description of the Pardoner
suggests that the narrator may be _____.

 

 Choice Feedback

A. an atheist

*B. unreliable Correct!

C. an old enemy of
the Pardoner

D. an employee of the
church

 
Global Incorrect Feedback

The correct answer is: unreliable.

 Question 6c of 20 ( 2 "The Pardoner's Tale": Characterization 272532 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: The narrator's description of the Pardoner could justly be described as
judgmental and biased. What might you conclude from this?

 

 Choice Feedback

A. That the Pardoner is also judgmental
and biased

B. That the narrator is untruthful in
everything he says

C. That the Pardoner is not in any way
like the narrator's description

*D. That the narrator is unreliable Correct!

 

Global Incorrect Feedback

The correct answer is: That the narrator is
unreliable.

 Question 7a of 20 ( 1 "The Pardoner's Tale" 272533 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of these describes what happens in the tale the Pardoner tells?

 

 Choice Feedback

A. Death visits with three men in a tavern
and kills them by an oak tree.

B. The Pardoner tries to sell his wares to his
audience.

*C. Three men set out to kill Death, but end
up killing each other instead. Correct!

D. Three men meet Death on a road; they
kill him and steal his treasure.

 

Global Incorrect Feedback

The correct answer is: Three men set out to kill
Death, but end up killing each other instead.

 Question 7b of 20 ( 1 "The Pardoner's Tale" 272534 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What does the Pardoner do after he completes his tale?

 

 Choice Feedback

*A. He tries to sell his fake relics to the
audience. Correct!

B. He tries to flee the tavern because the other
pilgrims are chasing him.

C. He insults the narrator.

D. He says that he is a fraud and that he will
give up his position as pardoner.

 
Global Incorrect Feedback

The correct answer is: He tries to sell his fake
relics to the audience.

 Question 7c of 20 ( 1 "The Pardoner's Tale" 272535 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Why is it strange when, after he completes his tale, the Pardoner tries to sell
his relics to the audience?

 

 Choice Feedback

A. Because the tale he tells warns against
the sin of false sales

B. Because it is illegal to sell relics in a
tavern

*C. Because he earlier admitted the relics
were fake Correct!

D. Because, as pilgrims, they would already
have had relics of their own

 
Global Incorrect Feedback

The correct answer is: Because he earlier
admitted the relics were fake.

 Question 8a of 20 ( 3 "The Pardoner's Tale": Tone 272536 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 

Question: Which of the following best describes the tone in the following passage?

But whoso finds himself without such blame,
He will come up and offer, in God's name,
And I'll absolve him by authority
That has, by bull, been granted unto me.
By this fraud have I won me, year by year,
A hundred marks, since I've been pardoner.
(Ch. 28, 57   62)

 

 Choice Feedback

*A. Boastful Correct!

B. Humble

C. Argumentative

D. All of the
above

 
Global Incorrect Feedback

The correct answer is: Boastful.

 Question 8b of 20 ( 3 "The Pardoner's Tale": Tone 272537 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 

Question: What is suggested by the tone of this passage, spoken by the Pardoner?

But whoso finds himself without such blame,
He will come up and offer, in God's name,
And I'll absolve him by authority
That has, by bull, been granted unto me.
By this fraud have I won me, year by year,
A hundred marks, since I've been pardoner.
(Ch. 28, 57   62)

 

 Choice Feedback

A. That the narrator does not make
money as a pardoner

B. That the narrator is honorable

*C. That the narrator does not respect the
people he's talking about Correct!

D. All of the above

 

Global Incorrect Feedback

The correct answer is: That the narrator does
not respect the people he's talking about.

 Question 8c of 20 ( 3 "The Pardoner's Tale": Tone 272538 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 

Question: What is suggested by the tone of this passage, spoken by the Pardoner?

I stand up like a scholar in pulpit,
And when the ignorant people all do sit,
I preach, as you have heard me say before,
And tell a hundred false japes, less or more.
(Ch. 28, 63   66)

 

 Choice Feedback

A. That the narrator is devoutly religious

B. That the narrator takes his job
seriously

C.
That the narrator respects the people
he is talking about

*D. That the narrator feels superior to the
people he's talking about Correct!

 

Global Incorrect Feedback

The correct answer is: That the narrator feels
superior to the people he's talking about.

 Question 9a of 20 ( 3 "The Wife of Bath's Tale" 272539 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Why does the Wife of Bath use a variety of rhetorical techniques in her
prologue and tale?

 

 Choice Feedback

A. She has openly declared that her tale is intended
to disprove the Pardoner's argument.

B. She feels that, as a woman, she is not up to the
task of winning the competition.

C.
She is trying to convince her audience that women
should have mastery in marriage, which was a
well-accepted position.

*D.
She is trying to convince her audience that women
should have mastery in marriage, which was a
controversial position.

Correct!

 

Global Incorrect Feedback

The correct answer is: She is trying to convince
her audience that women should have mastery
in marriage, which was a controversial position.

 Question 9b of 20 ( 3 "The Wife of Bath's Tale" 272541 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What idea is the Wife of Bath's tale intended to communicate?

 

 Choice Feedback

A. That women should be
allowed access to learning

B. That women should be
subservient

*C. That women should have
sovereignty

Correct!

D. All of the above

 

Global Incorrect Feedback

The correct answer is: That women should have
sovereignty.

 Question 9c of 20 ( 3 "The Wife of Bath's Tale" 272542 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: In the Wife of Bath's tale, the story of the knight is intended to illustrate
which point?

 

 Choice Feedback

*A. That women should have sovereignty Correct!

B. That women should be subservient

C. That women should be allowed to remarry
as many times as they want

D. All of the above

 
Global Incorrect Feedback

The correct answer is: That women should have
sovereignty.

 Question 10a of 20 ( 1 "The Wife of Bath's Tale" 272543 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: "The Wife of Bath's Tale" is _____.

 

 Choice Feedback

*A. an
exemplum Correct!

B. an epic

C. a myth

D. a tragedy

 
Global Incorrect Feedback

The correct answer is: an exemplum.

 Question 10b of 20 ( 1 "The Wife of Bath's Tale" 272544 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What is an exemplum?

 

 Choice Feedback

*A. A moralizing tale, similar to a religious parable Correct!

B. A story intended to explain natural or cultural
phenomena in supernatural terms

C. A very short story with a clear, explicitly stated
moral

D. Any religion-themed story

 
Global Incorrect Feedback

The correct answer is: A moralizing tale, similar
to a religious parable.

 Question 10c of 20 ( 1 "The Wife of Bath's Tale" 272545 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of these is an exemplum?

 

 Choice Feedback

A. "The Pardoner's
Tale"

*B. "The Wife of
Bath's Tale" Correct!

C. The Canterbury
Tales

D. The prologue

 
Global Incorrect Feedback

The correct answer is: "The Wife of Bath's Tale."

 Question 11a of 20 ( 1 "The Wife of Bath's Tale": Rhetoric 272547 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What is controversial about the Wife of Bath?

 

 Choice Feedback

A. She's been married five times.

B. She advocates women's mastery over
their husbands in marriage.

C. She prefers experience over authority.

*D. All of the above are true. Correct!

 
Global Incorrect Feedback

The correct answer is: All of the above are true.

 Question 11b of 20 ( 1 "The Wife of Bath's Tale": Rhetoric 272548 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of the following is not true of the Wife of Bath?

 

 Choice Feedback

*A. She's only been married once. Correct!

B. She advocates experience over
authority.

C. She has a deep knowledge of the
Bible and classical writing.

D. She is a successful businesswoman.

 
Global Incorrect Feedback

The correct answer is: She's only been married
once.

 Question 11c of 20 ( 1 "The Wife of Bath's Tale": Rhetoric 272549 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of these is/are true of the Wife of Bath?

 

 Choice Feedback

A. She has only been
married once.

B.
She prefers authority
over experience.

C. She is royalty.

*D. None of these are true. Correct!

 
Global Incorrect Feedback

The correct answer is: None of these are true.

 Question 12a of 20 ( 2 Character Study 272550 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of these is an example of indirect characterization?

 

 Choice Feedback

A. She is creepy.

*B. The doctor never liked to admit he was wrong. Correct!

C. Appleburg Mansion was an old Victorian, complete
with porticos, gables, and turrets.

D. Did you see the sweater Margaritte was wearing?
It looked like she found it in a garbage bin.

 
Global Incorrect Feedback

The correct answer is: The doctor never liked to
admit he was wrong.

 Question 12b of 20 ( 2 Character Study 272551 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of the following is an example of direct characterization?

 

 Choice Feedback

A. His hair was parted to the right and plastered to
his skull, like in an old photograph.

*B. She was extremely generous, but could use her
gifts to make you feel guilty. Correct!

C. "If I can just win this race," thought Beltran, "I can
win Laetitia's love."

D.
Without really thinking about it, Sampedro took
the flowerpot from Ansel's doorstep and smashed
it on the ground.

 

Global Incorrect Feedback

The correct answer is: She was extremely
generous, but could use her gifts to make you
feel guilty.

 Question 12c of 20 ( 2 Character Study 272552 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of these is not an example of indirect characterization?

 

 Choice Feedback

*A. Paula's hair hung limply about her eyes - she had
poor hygiene, and it showed. Correct!

B.
Paula's hair hung limply about her eyes, making
her look as though she had just come in from the
rain.

C.
Paula's hair hung limply about her eyes, and it
gave the impression that she was looking at the
loose strands themselves.

D. Paula's hair hung limply about her eyes.

 

Global Incorrect Feedback

The correct answer is: Paula's hair hung limply
about her eyes ¶ she had poor hygiene, and it
showed.

 Question 13a of 20 ( 2 Compare and Contrast Essay 272553 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of the following would work as the thesis statement for a compare-
and-contrast essay?

 

 Choice Feedback

A. Character A is older than character B.

*B.
Character A and character B represent two
different approaches to the same goal, which is to
keep their families intact.

Correct!

C.

Character A is similar to character B in terms of his
education and background, and character A also
has an advantage over character B in terms of his
family history.

D. All of the above would work.

 

Global Incorrect Feedback

The correct answer is: Character A and
character B represent two different approaches
to the same goal, which is to keep their families
intact.

 Question 13b of 20 ( 2 Compare and Contrast Essay 272554 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of the following would work as the thesis statement for a compare-
and-contrast essay?

 

 Choice Feedback

A. Character A is a man, and character B is a woman.

B.

Character A and character B both went to Yale,
and character B is a salesman; both characters
want to be successful, but character A is a
landowner.

C. Character A is similar to character B, but also
different.

*D.

Character A and character B differ in the sense
that they are on two sides of a political divide, but
it is through their similarities that the main theme
of the work is explored.

Correct!

 

Global Incorrect Feedback

The correct answer is: Character A and
character B differ in the sense that they are on
two sides of a political divide, but it is through
their similarities that the main theme of the
work is explored.

 Question 13c of 20 ( 2 Compare and Contrast Essay 272555 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of the following would work as the thesis statement for a compare-
and-contrast essay?

 

 Choice Feedback

*A.

Character A and character B represent two
different ethnic groups, and the similarities
between both are the key to understanding the
story's racial argument.

Correct!

B.

Character A and character B both have advanced
degrees, but character B earned his illegally; both
characters are striving for happiness, but
character B is further from it than character A.

C. Character A is taller than character B.

D. Character A is from France, and character B is from
Spain.

 

Global Incorrect Feedback

The correct answer is: Character A and
character B represent two different ethnic
groups, and the similarities between both are
the key to understanding the story's racial
argument.

 Question 14a of 20 ( 1 Compare and Contrast Essay 272556 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What is the function of the summary paragraph in a compare-and-contrast
essay about a work of literature?

 

 Choice Feedback

A. It provides the reader with a summary of the
argument you will make in your essay.

*B. It provides the reader with necessary
background information about the story. Correct!

C. It offers contrast information only.

D. It offers comparison information only.

 

Global Incorrect Feedback

The correct answer is: It provides the reader
with necessary background information about
the story.

 Question 14b of 20 ( 1 Compare and Contrast Essay 272557 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What should the thesis statement in a compare-and-contrast essay do?

 

 Choice Feedback

*A. It should strike a balance between
contrast and comparison. Correct!

B. It should restate the plot of the story.

C. It should always contain the phrase,
"This essay will be about . . ."

D. All of the above are true.

 

Global Incorrect Feedback

The correct answer is: It should strike a balance
between contrast and comparison.

 Question 14c of 20 ( 1 Compare and Contrast Essay 272558 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: The concluding paragraph in a compare-and-contrast literary essay should
include one sentence in which:

 

 Choice Feedback

A. an opposing viewpoint is
introduced and refuted.

B. the reader is introduced to the
basic premise of the story.

*C. the thesis is restated in new
words. Correct!

D. the summary paragraph is
restated in new words.

 
Global Incorrect Feedback

The correct answer is: the thesis is restated in
new words.

 Question 15a of 20 ( 1 Fact Checking 272559 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of the following are fact-checking resources you can find at a local
library?

 

 Choice Feedback

A. Encyclopedias

B. LexisNexis
search

C. JSTOR search

*D. All of the
above Correct!

 
Global Incorrect Feedback

The correct answer is: All of the above.

 Question 15b of 20 ( 1 Fact Checking 272560 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of the following is not a fact-checking resource?

 

 Choice Feedback

*A. Novels Correct!

B. The Library of
Congress

C. The Internet

D. Encyclopedias

 
Global Incorrect Feedback

The correct answer is: Novels.

 Question 15c of 20 ( 1 Fact Checking 272561 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of the following would be least likely to employ fact checkers?

 

 Choice Feedback

A. A newspaper

*B. An Internet site Correct!

C. A publisher of
encyclopedias

D. A monthly news
magazine

 
Global Incorrect Feedback

The correct answer is: An Internet site.

 Question 16a of 20 ( 1 Parallel Structure 272562 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What is parallel structure?

 

 Choice Feedback

*A. When two or more ideas are given equal weight
and grammatical structure in a sentence Correct!

B. When one character echoes the dialogue of
another character

C.
When words, phrases, and ideas across a work of
fiction are similar in structure and echo one
another

D. When a sentence's content directly mirrors the
content of the preceding sentence

 

Global Incorrect Feedback

The correct answer is: When two or more ideas
are given equal weight and grammatical
structure in a sentence.

 Question 16b of 20 ( 1 Parallel Structure 272563 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of these describes parallel structure?

 

 Choice Feedback

A. When two or more ideas are given equal weight
and grammatical structure in a sentence

B. When two or three words, phrases, or clauses are
given equal weight and structure in a sentence

C.
When a sentence contains multiple phrases of
equal measure and grammatical structure

*D. All of the above Correct!

 
Global Incorrect Feedback

The correct answer is: All of the above.

 Question 16c of 20 ( 1 Parallel Structure 272564 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of the following does not describe parallel structure?

 

 Choice Feedback

A. When two or more ideas are given equal weight
and grammatical structure in a sentence

B. When a sentence contains multiple phrases of
equal measure and grammatical structure

C. When two or three words, phrases, or clauses are
given equal weight and structure in a sentence

*D.
When words, phrases, and ideas across a work of
fiction are similar in structure and echo one
another

Correct!

 

Global Incorrect Feedback

The correct answer is: When words, phrases,
and ideas across a work of fiction are similar in
structure and echo one another.

 Question 17a of 20 ( 2 Parallel Structure 272565 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which sentence illustrates parallel structure?

 

 Choice Feedback

A.
It's a good idea to get plenty of sleep, drink plenty
of water, and to eat a large breakfast in the
morning.

B. A year spent not by the ocean, but the lake.

C.
The flaws in this essay are, first, the sarcastic
tone of the thesis statement; second, the thesis
statement is too vague.

*D. Their summer camp teaches many skills: canoeing,
skiing, and rope making. Correct!

 

Global Incorrect Feedback

The correct answer is: Their summer camp
teaches many skills: canoeing, skiing, and rope
making.

 Question 17b of 20 ( 2 Parallel Structure 272566 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which sentence illustrates parallel structure?

 

 Choice Feedback

*A.
It's a good idea to get plenty of sleep, to drink
plenty of water, and to eat a large breakfast in
the morning.

Correct!

B. A year spent not by the ocean, but the lake.

C.
The flaws in this essay are, first, the sarcastic
tone of the thesis statement; second, the thesis
statement is too vague.

D. Their summer camp teaches many skills: canoeing,
skiing, and how to make rope.

 

Global Incorrect Feedback

The correct answer is: It's a good idea to get
plenty of sleep, to drink plenty of water, and to
eat a large breakfast in the morning.

 Question 17c of 20 ( 2 Parallel Structure 272567 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which sentence illustrates parallel structure?

 

 Choice Feedback

A.
It's a good idea to get plenty of sleep, drink plenty
of water, and to eat a large breakfast in the
morning.

*B. A year spent not by the ocean, but by the lake, is
a perfect year. Correct!

C.
The flaws in this essay are, first, the sarcastic
tone of the thesis statement; second, the thesis
statement is too vague.

D. Their summer camp teaches many skills: canoeing,
skiing, and to make a rope.

 

Global Incorrect Feedback

The correct answer is: A year spent not by the
ocean, but by the lake, is a perfect year.

 Question 18a of 20 ( 3 Vocabulary 272569 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 

Question: Which of the words below would correctly complete the following sentence?

To achieve _____ between the warring parties, negotiators encouraged
representatives to be _____.

 

 Choice Feedback

*A. concord;
concessive Correct!

B. concessive;
antebellum

C. antebellum;
concord

D. amenable;
concord

 
Global Incorrect Feedback

The correct answer is: concord; concessive.

 Question 18b of 20 ( 3 Vocabulary 272570 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 

Question: Which of the words below would correctly complete the following sentence?

The origins of the mineral sample were _____; it did not offer proof of life on
Mars after all.

 

 Choice Feedback

A. propriety

B. antebellum

C. submissive

*D. terrestrial Correct!

 
Global Incorrect Feedback

The correct answer is: terrestrial.

 Question 18c of 20 ( 3 Vocabulary 272571 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 

Question: Which of the words below would correctly complete the following sentence?

Ivan was _____ to his friend's suggestion, but thought that they should first
go to the bank.

 

 Choice Feedback

A. antebellum

*B. amenable Correct!

C. discrete

D. terrestrial

 
Global Incorrect Feedback

The correct answer is: amenable.

 Question 19a of 20 ( 1 Prefixes and Suffixes 272572 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of the following could you attach to the beginning of a word to indicate
it comes before something else?

 

 Choice Feedback

*A. Ante- Correct!

B. Sub-

C. -Ize

D. -Able

 
Global Incorrect Feedback

The correct answer is: Ante-.

 Question 19b of 20 ( 1 Prefixes and Suffixes 272573 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of the following means "belonging to" or "quality of"?

 

 Choice Feedback

A. Con-

B. -Ale

*C. -Ive Correct!

D.
None of the
above

 
Global Incorrect Feedback

The correct answer is: - Ive.

 Question 19c of 20 ( 1 Prefixes and Suffixes 272574 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Which of the following could you attach to the beginning of a word to indicate
it is the opposite of something else?

 

 Choice Feedback

*A. Dis- Correct!

B. -Ize

C. Ante-

D. Sub-

 
Global Incorrect Feedback

The correct answer is: Dis-.

 Question 20a of 20 ( 1 Prefixes and Suffixes 272575 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: _____ appear(s) at the beginning of root words, whereas _____ appear(s) at
the end.

 

 Choice Feedback

*A. Prefixes;
suffixes Correct!

B. Suffixes;
prefixes

C. Nothing;
suffixes

D. Prefixes;
nothing

 
Global Incorrect Feedback

The correct answer is: Prefixes; suffixes.

 Question 20b of 20 ( 1 Prefixes and Suffixes 272576 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: The following are examples of _____: - ive, -ion, and  able.

 

 Choice Feedback

A. parables

B. root
words

C. prefixes

*D. suffixes Correct!

 
Global Incorrect Feedback

The correct answer is: suffixes.

 Question 20c of 20 ( 1 Prefixes and Suffixes 272577 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Sub-, ante-, and con- are examples of _____.

 

 Choice Feedback

A. parables

B. root
words

C. suffixes

*D. prefixes Correct!

 
Global Incorrect Feedback

The correct answer is: prefixes.
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